802 .
x HRILE « F v ME wem 202518~)
W E2022.1
BRIV GRILE - Fv bBIER) BX&vy bRV (Fv b 2EED)
I8 /4 5/16 3/3 /s 5/s 3/4 /3 /s 5/3 3/4
B X () M6 MS$ M0 | MI12 | M16 | M20 | M22 MI2 | M16 | M20
20 17 28 50 65 420 560
25 22 44 56 70 440 590
32 44 67 75 480 600
40 78 100 156 80 630
45 94 111 178 85 670
50 111 117 150 90 680 | 1,330
55 122 128 167 100 720 | 1,370
60 139 172 406 GRAT = 1/ )
65 142 189 317
70 150 200 333
75 211 356
80 222 361 510
90 267 406 520
F b 17 17 22 28 50 117 150
Ty ¥y — 17 17 20 33 50 72 167
Ty — 44 67 94 272
A7) T 17 18 22 30 14 72
Ty Yy =
(A FHALZXDRIVIFy MIFIERBYICEUET) CHLA7 /i)
88 2% _ . . 643% |ARILRFY R
AT LA KRIVE «F v MR (/N2 FET)
% E2022.1 [ZrEfl 2022461 B ~] BE2022.1 | [#Hief 202241 8 ~]
SUSHKIL b (KIL b « Fv FEIEK) (BFIVRFy by M)
IFf7% /4 5/16 3/3 2 5/s 3/4 /s [P0 N I i <SR [ 92 0 N 7 <4
B (m) M6 M8 M10 M12 M16 M20 M22 (yb) | (/&) | (2o b) | (/%)
20 67 108 175 MI2X80| 215 [M20X120] 630
25 75 133 192 MI2X90| 220 [M20Xx130] 670
30 83 142 217 333 MI2X100] 260 |M20X140[ 720
40 117 167 242 390 M20X150] 740
45 283 392 M16X100] 320 |M20X160 —
50 300 408 790 M16X110] 360
55 350 442 840 M16X120] 380 |M22X140| 1,140
60 385 520 870 M16X130] 410 |M22X150] 1,100
65 550 890 M16X140] 420 |M22X160| 1,290
70 585 930 | 1,850 M22X170] 1,390
75 950 | 1,960 M22X180| 1,660
80 2,050 | 3,290
90 3,620 GHLRz < 1/ )
F b 33 75 100 140 142 442 580
Ty — 25 33 40 67 95 185 358
AT) v 25 33 58 83 167 317 458
Ty Yy —
(Ao FHALZOKRIV R Fy NEREEBYICERYET) CHUARE 2 1 /)
85 4% 13A 15A 20A 25A 32A 40A 50A 65A
- 5K 190 200 220 260 320 350 380 530
e 10K 250 260 290 350 380 430 490 620
EPDM S0A 100A 125A 150A 200A 250A 300A 350A
Sl 5K 650 790 1,130 1,310 1,690 2,240 2,750 4,450
1Ny 10K 760 950 1,150 1,430 1,780 2,400 2,820 4,600
ok 1,040 1,230 1,600 1,810 2,210

243



